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and its part number on answer book, as given in the question paper.

SECTION-I Ji»
8=2x4

2. Attempt any four parts.
(i) What is meant by programming environment?

(i)  Write two rules for naming variables.

Differentiate between "char" and "int".

Define logical operators.

(v}  What is the use of format specifier in C-language?
(vi)
3. Attempt any four parts.

Differentiate between unary operators and binary operators.
8=2x4
(i) Define control statements.

(i) VWhy do we need selection statements?

(iii)  Identify the errors in the following code:

if (x> 10)
printf ("Good");

Write the structure of if statement.

(v)  Write tie example of the declaration of'a float

type array that holds marks of five students.
(vi)  Define data structure.
4. Attempt any four parts. 8=2x4
(i) Define loop.
(i)  Write output of following code:
for (inti=0; i<2;i++)
printf ("Pakistan\n");
(i)  What is divide and conquer rule?
Define function.
(v)  Write two advantages of function.

Differentiate between argument and parameter.

SECTION-II (992
16=8x2

NOTE: Attempt any two questions.

5. What is meant by comments in C Program?
Describe purposes and types of comments.

6. Explain the use of printf( ) and scanf( ) in

C-language with examples.

Logic =4, Structure = 4
7. Write a program using For loop to print table of any number.
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TIME ALLOWED: 1.45 Hours SUBJECTIVE _¢iLe
0 = AF

MAXIMUM MARKS: 40

NOTE: Write same question number -;‘:_z-,ﬂu:g:_{,gw,ﬁzé—f Z;x:A'Z;}’ﬂUMﬁ:{Q ((,_Siﬁ ey
and its part number on answer book, as given in the question paper.
SECTION- Ji.o>

2. Attempt any four parts. 8=2x4 Ejep e 24y
(i)  What do you know about text editor? ‘“J‘c..bbﬁ.f LJLL}"J’IU‘C (i)
(i)  Whatis compiler? ‘"r_LU’lf (if)
(i)  Write the purpose of syntax. zf;ﬁ'@‘guﬂh.\w (iif)
(iv)  What is the difference between printf( ) and scanf( )? ‘“r_u}bfu‘ scanf( s printf( ) (iv)
(v)  Define assignment operator. Sy /‘U}xi..-f L (v)
(vi)  Define Modulus operator. -éf i /d}/fuJul. (vi)

3. Attempt any four parts.

8=2x4

éxﬁ,uﬂiuulm,d,f -3/J1y

(i)  What is sequential control? *‘c.LfJ:/ J" )

(i) What s the output of the following: *‘c.l/:f AT Lstn (i)
inta=3, b=5; inta=3, b=5;
a=a+b; a=ath;
if(a>8&&b<8) if(a>8&&b<8)
b=a+b; b=a+bh;
printf ("a = %d, b = %d", a, b); printf ("a = %d, b = %d", a, .b);

(i) Write the purpose of if statement. vy jﬁ"“KJ‘/ if (i)

(iv)
(v)
(vi)

4. Attempt any four parts.

(i)

(if)

NOTE: Attempt any two questions.

Write structure of if-else statement.

Define array.

Declare an array of float type to store marks of 40 students.
8§=2x4
Identify the errors of this code.

for (int x=0; x <5; x++)

printf("PAKISTAN");

Write the output of this code.

&G; b ifelse (V)
Sl v
EA I bl L5550 b4 (i
ZJ/.,LI,’ZJJWL&/ 44y
seslud )
for(int x=0; x<5;x++)
printf("PAKISTAN");
st G

int x; int x;
fgr(3r=0;x<3;x++) for (x =0; x <3; x++)
printf( " Tl?\n"); pflnﬂ( " ﬂf\ﬂ");

Define user-defined functions.

How a function is called?

Differentiate between arguments and parameters.
What is meant by function body?

SECTION-Il (1.

16=8x2
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5. Whatis variable? Write down the rules 2+6=8 ,J/';fu'ls’ﬁézrl,ﬁf"u'f,ra C fetnf® 5
for naming variable in C-language. )
6. Explain the use of printf( ) 4+4 -q/yu,c_,uﬁwdwiyiﬂ scanf( ) s printf( )ui’f-,;@-c -6
and scanf( ) functions in C-language with examples.
Structure = 4, Logic = 4 o FE 10 e L sl o bl T
7. Write a program using "for" loop to print counting from 1-10.
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PAPER CODE

RUmBER: 3831

COMPUTER SCIENCE (NEW COUSRSE) GROUP-| by - o/ (W) Ssd

*

TIME ALLOWED: 15 Minutes OBJECTIVE U‘?ﬁ.ﬂ 18 = 2
MAXIMUM MARKS: 10 10= /.{f

y = 3 /:L:C}b.ih‘?&lb'ﬁviﬁc/»:_.gﬂ u:}l:écf___:é‘_w:dlrﬂ{(éﬁ'ﬁ -gﬁ’éé,: D .l C«B <A .:«giz;ﬁyz.’.dir/; -xd
SEIF V] -b’ngL:uii:;J}(J:ur‘JL/;.é JE,J;/’!J _(mr‘jwvlﬁuﬁgﬂaxfgfi_ﬁ Sk | LS el ki -2
Note: you have four choices for each objective type question as A, B, C and D. The choice -q&w}gaﬂb’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 R
(1) For initialize a variable, we use operator. ‘.L_;_;’Z./ULJ’L}.{T (5_'&/:,3;/7 U-"-"b’;:‘"’;g (1)
(A) ——2 B) = € @ (D) ?
(2) getch( ) is used to take as input from the user. -.f_wmg_zaﬁ 2l el geteh( ) (2)
(A) int (B) float (C) char (D) printf
(3) Which of the following is a valid line of code? - éiv;ﬁlfdfu/ﬁrc—ﬁu! (3)
(A) int = 20; (B) grade ='A’; (C) line = this is a line; (D) int=c
(4) Which of the following is the conditionto check awis factor of ¢ ? ?JZ‘}E‘L}’:’.K ¢ <a fq_g-jufgé'lfdufnﬂvl (4)
(A)a%c==0 By c¥ha== (C)a*ec==0 (D) atc==
(5) Sequential control is the control structure in C-language. _g..ﬁ,.:ﬁds/‘-’/ J; - J”Eg:éy@-c (5)
(A) Selection J’"a’ (B) Repetition jéuis, (C) Relation ﬁ; (D) Default /w3
(6) Array elements are stored at memory location. _ugz_m;,-ﬁif;,u;» L 974 u"xﬁﬁz__ﬂ (8)
(A) Contiguous L+ (B) Scattered Z_sc# (C)Divided +25%>  (D)Add &
(7) part of for loop is executed first, o Ul bttt ks for (7)
(A) Condition 5~ (B) Body (3L (C) Initialization o7 5 (D) Increment/decrement ﬂilﬁf
(8) The funclions which are available in C Standard Library are called: -V_?LM%;WJILS;/.’BL}% {(8)
(A) user-defined 4 wiy (B) built-in uf;é (C) recursive df,;ﬂf (D) repetitive dﬂ/‘:
(9) What will be the output of code? ?uﬁﬁg_ﬁ.;.bﬁd/}j:ﬂ (9)
Void main ( ) Void main ( )
{ R
printf ("2"); printf ("2");
} }
(A) 3 (B) 1 (C) 2 (D) 4
(10) Readability helps to the code. _c‘:_&/':a.J o 5[_”.2;“#75&—@&.:; (10)
(A) Save &5 (B) Modify i_Jfx  (C)Run i ik (D) Compile & /S

38(N)(Obj)( ¥)-2022(A)-16000 (MULTAN)



PAPER CODE

hﬂJMBER: 3833

2022 (A)
SSC PART-ll (10th CLASS)

Q@ oy

COMPUTER SCIENCE (NEW COUSRSE) GROUP-I by - o (L) SAnd

TIME ALLOWED: 15 Minutes OBJECTIVE (3.2 e15 =
MAXIMUM MARKS: 10 10= A

A f /GU;}DJW&WLVIJTMJM.J u:x'béé:&..b&;ﬁrﬁ{d(dlﬁ -t é{-) D sl C B A :ul,li.}ﬁ?&d!rﬁ -2
YEIR IV -(Lk&)ﬂ/(jfdﬁ@::‘d/&/’:é JEJ:}I: ,&Jﬂj&rlﬁd:iufajfd/m Juk | z'./i/uu’uuy;.g )
Note: you have four choices for each objective type question as A, B, C and D. The choice _J_/C:J’?:q.:fmf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Array elements are stored at memory location. ,@'Lﬁb‘_égw e ﬂcﬁa.;l 1)
(A) Contiguous .+ (B) Scattered Z.!EL_/{ (C) Divided u;r‘j (D) Add &

(2) ___ partoffor loop is executed first. -gﬂz%;qy g for (2)

(A) Condition (B)Body (il (C) Initialization 2782 (D) Increment/decrement (75!

GBI WERr e S A (3)

(3) The functions which are available in C Standard Library are called:

(A) user-defined &~ iy (B) built-in ¢/l (C) recursive JL;;L‘"/ (D) repetitive J;!/:
(4) What will be the output of code? Sl s (@)
Void main ( ) Void main { )
{ {
printf ("2"}; printf ("2");
} 1
(A) 3 B) 1 (C) 2 (D) 4
(5) Readability helps to the code. Y- Yeslfibsy  (5)
(A) Save k¢ (B) Modify iJtx  (C)Run ik (D) Compile i/
(6) For initialize a variable, we use operator. -;_jji.fdtﬁ*[}:ﬂ o r‘kj.[.i./;? 1L (6)
(A) —— (B) = ) @ (D) ?
(7) getch( ) is used to take _ as input from the user. _c‘._t'ﬁdb‘;"nid:&% 2a e dle getch( ) ()
(A) int (B) float (C) char (D) printf
(8) Which of the following is a valid line of code? e EAS et (6)
(A) int=20; (B) grade ='A’; (C) line = this is a line; (D) int=¢
(9) Which of the following is the condition to check a is factorof ¢ 7 ?u:?"gi-_/ﬂ-:"b’ C «a f‘g&lzftfflfu‘ufg,ﬁu! (9)
(A) a%c==0 (B) c%a== C)a*c==0 (D) a+c==
(10) Sequential control is the control structure in C-language. ‘g_ﬁ.}g),j-"’ ___J;}'ff;':/u:é;@-c (10)

Ll

(A) Selection .;f-

38(N)(Obj)( TEI)-2022(A)-16000 (MULTAN)
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" |PAPER CODE 2022 (A) } ’I i) vy

hﬁlﬁBER: 3835 SSC PART-Il (10th CLASS)

COMPUTER SCIENCE (NEW COUSRSE) GROUP-I by - ot (i) Ssd
TIME ALLOWED: 15 Minutes OBJECTIVE u‘bf’:ﬁ 215 = =5
MAXIMUM MARKS: 10 10= AF

A L SNBSSl N erne il lsi Ly g Q6317 - L L D C B A el Bl )
{24 Jz.t,yﬂ/é)&.—-.m&.&i J(JJ?’J -b’n;r‘jblﬁ.,«lzuxigﬂan‘nﬂ_/q Jok i../.ay(u:}'fmk}:_ug s
Note: you have four choices for each objective type question as A, B, C and D. The choice -L,[/,SJ’}';:::U'}"
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A

(1) Which of the following is the condition to check a is factor of ¢ ? ‘.‘Jfg;.,/‘i"{ c «a f;.{jt':fw&‘"b/ddfufuﬂ (1)

(A) a%c== B) c%a==0 (C)a*c==0 (D) a+c==0
(2) Sequential controlis the ______control structure in C-language. e A I PELG R @
(A) Selection wﬁgb (B) Repetition ininy; (C) Relation gﬂ"% (D) Default 2/}
(3) Array elements are stored at memory location. wujLnE:E’%.;Lw Lt kalic_ﬂ (3)
(A) Contiguous -+ (B) Scattered Lm../’{ (C) Divided uﬁr:jr (D)Add &
(4) _____ partof for loop is executed first. efledie o ¥ for (4)
(A) Condition &~ (B) Body (it (C) Initialization /%5 125 (D) Increment/decrement uf/,iut
(5) The functions which are available in C Standard Library are called: -ug.f_llgf;;ig’}f.»fufd;ﬂ’u;‘;}:" (5)
(A) user-defined 255,y (B) built-in et (C) recursive $y..F (D) repetitive (5
(6) What will be the output of code? e s T8W (@)
Void main ( ) Void main ( )
{ {
printf ("2"); printf ("2";
} }
(A) 3 (B) 1 (€) 2 (D) 4
(7) Readability helpsto _______the code. VY- epwdivey )
(A) Save i J5# (B) Modify &/ fx  (C)Run Lk (D) Compile ;ij’
(8) For initialize a variable, we use _______operator. _ujé_/dbx:‘l sl (Té...f_é_f'/’ Wy L] (8)
(A) —— B) = C) @ (D) ?
(9) getch( )is used to take as input from the user. cebnJid LA sl e e geteh( ) (9)
(A) int (B) float (C) char (D) printf
(10) Which of the following is a valid line of code? %‘;_é‘u‘uwﬂ! e Uil (10)
(A) int = 20; (B) grade ="A", (C) line = this is a line; (D) int=c

38(N)(Obj)( WX I)-2022(A)-16000 (MULTAN)
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COMPUTER SCIENCE (NEW COUSRSE) GROUP-

TIME ALLOWED: 15 Minutes

MAXIMUM MARKS: 10

2022 (A)
SSC PART-Il (10th CLASS)

OBJECTIVE (f%/s Sl = &
10= AF
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Note: you have four choices for each objective type question as A, B, C and D. The choice ..u’fd’f._.u!f

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) getch( ) is used to take as input from the user. 3 tf-.dt-}uj_.[_i": 2! = e getch( ) (M
(A) int (B) float (C) char (D) printf

(2) Which of the following is a valid line of code? e Gy @)
(A) int=20; (B) grade ='A’ (C) line = this is a line; (D) int=c¢

(3) Which of the following is the condition to check a is factor of ¢ ? ﬁ’Jfgq.}g‘{ c «a .f.;_f}u,wi'ilﬂ’uufu:u! (3)
(A) a%c==0 (B) c%a==0 Cya*c==0 (D) a+c==

(4) Sequential control is the control structure in-C-language. -ﬁaﬁ-,’/f‘;.«'}/"’( S !é C!@ c (4)
(A) Selection £ (B) Repetifionsauite’) (C)Retation ¥ (D) Default /&3

(5) Array elements are stored at ____ memory location. -ujri.nyra’:;_;w'» LG /ch_.—(_.ﬁ (5)
(A) Contigucus AL (B) Scattered E_m_./’g (C) Divided .uﬁ,w/:; (D) Add &

(6) part of for loop is executed first. e o ks for (6)
(A) Condition b 7 (B) Body i (C) Initialization JAF (D) Increment/decrement dl‘ul

(7) The functions which are available in C Standard Library are called: -;gé.u#f;v"""{;ﬁx‘ufd_//ﬂlb}f‘ (7)

(A) user-defined %@ 5.y

(B) built-in /et

(8) What will be the output of code?
Void main ( )
{
printf ("2");
}
(A) 3 (B)
(9) Readability helpsto ______the code.

(A) Save T 4

(10) For initialize a variable, we use

(A) ———

(B)

B) =

(C) recursive u"-{/if (D) repetitive SF

(afogasHn (8
Void main ( )
{
printf ("2");
}
1 (C) 2 (D) 4
Y- epuofi by (9)
Modify L/fx  (C)Run Ll (D) Compile /Y
operator. gl AT gfg;f_;_/‘;uﬁflf/f’,é’l (10)
C) @ (D) ?

8(N)(Obj)( T T I¥)-2022(A
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PAPER CODE 2022 (A)

SSC PART-Il {(10th CLASS)

)
A

NUM-BER: 3832

COMPUTER SCIENCE (NEW COUSRSE) GROUP-II Ipns = .f:)' (i) u—"w,_{

TIME ALLOWED: 15 Minutes OBJECTIVE (S~ o415 = =Dy
MAXIMUM MARKS: 10 10= AF

o b A3 L e fo il s Iy 36017 -t L& D sl C B A 2\l Ly S
EIR ] -fr‘i—%%ﬁi/} ALY Sy Jﬁ)}b -s’mﬂ'w,,wmfm:dmfi.ﬂ oy LSl Ll 2=
Note: you have four choices for each objective type question as A, B, C and D. The choice ..g,[/'::U’}':g..:.«mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A

(1) For initializing a variable, we use operator. Y20 ) VT ;‘?éd:i-/"f A (1)
(A) — B) = C) @ (D) ?

(2) Which of the following is a valid character in C-language? e s éf@C Al ! (2)
{A) "here" (By "a" (C) & (D) 115

(3) In C-language, which of the following is logical operator? ?.;_}_{T&qufc.uiuluﬁér@-C (3)
(A) + (B) < (C) % (D) NOT

et A e i afinle w S (@)

(4) An if statement inside another if statement is
called structure.
(D) Decomposed jifgi

_;@,ﬁ?%;}?ﬁdd}'@» (3)

(D) Relation 2%

(A) Nested i (B) Boxed 1% (C) Repeated -

(5) All of the following are control statements except:
(C) Selection =~

et Ll e AL e iu (6)

(A) Sequential 5% (B) Repitition ;éiass;

(8) structure allows repetition of a set of instructions.
(C) Control dj}( (D) Data L

e bl ()

(A) Loop v (B) Conditional bs,”

(7) Using loop inside the loop is called:

(A) For (B) While (C) Simple 2L (D) Nested %2

adEHZ AR @

(8) The values passed to a function are called:

(A) Bodies 23

(B) Return types .f_ﬁ'L'ujm

(C) Arrays 7! (D) Arguments U~ 7

(9) What will be the output of this code? s @
Void abc ( ) Void abc ( )
{ {
printf("Punjab"); printf("Punjab");
} 1
(A) Punjab (B) Pun (C) Pak (D) Pakistan
(10) If there are three retun statements in -fu‘.‘}g/g c.dgjl?unu’&gﬁjcfuﬁdigfgfl (10)

the function body of them will be executed.

(A) One £ (B) Two s

(C) Three u; (D) Four sk

40(N)(Obj)( YX)-2022(A)-10000 (MULTAN)



P§PER CODE No.383 2022 (A)
SSC PART-II (10th CLASS)

COMPUTER SCIENCE (NEW COUSRSE) GROUP-II b - oad CEBE) il
TIME ALLOWED: 15 Minutes OBJECTIVE (/e e15 = =
MAXIMUM MARKS: 10 0= AF

S ih | SIS N L u;flJﬂ:é.J&VLJlrﬁ{Qbﬁlﬁ -pLi D sCBA a&’f&ﬁkﬁd’rﬂ 0¥
YEYR V] _(ngpu.‘."}/:;g/uf@u‘&é_.)z,é J(bfl: _b'mr"JLU\.,Jﬁuﬁu’:ou"JL)Z Jok| L/.é:(u;}hup‘a.._g <
Note: you have four choices for each objective type question as A, B, C and D. The choice _L[):'.d’}’}.:-wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Using loop inside the loop is called: et nl (1)
(A) For (B) While (C) Simple 2~ (D) Nested =
(2) The values passed to a function are called: —£3WﬁfJJ§;ﬁ' 2)
(A) Bodies zil (B) Return types u‘gkuﬁ; (C) Arrays ! (D) Arguments J?”fjl'
(3) What will be the output of this code? -fﬁ-‘@c«fﬂf W (@)
Void abe ( ) , Void abc ( )
{ {
printf("Punjab"); printf{"Punjab");
} }
(A) Punjab (B) Pun (C) Pak (D) Pakistan
{4) If there are three retun statements in ddfﬂ/a:'_ ;,L,Cu!?unu%ﬁ;ufufdjgfﬁﬁ 4)
the function body ____ of them will be executed.
(A) One fi (B) Two s (C) Three £ (D) Four
(5) oy initializing a variable, we use operator. gl Mg AL LG TP (5)
(A) ———> B) = € @ (D) ?
(6) Which of the following is a valid character in C-language? ﬁ?azu;vﬂé;@—c }*':/.szufc:;ui’w (6)
(A) "here” (B) "a" (C) ‘a (D) 115
(7) In C-language, which of the following is logical operator? ﬁ‘c‘,_ﬁ{ﬂvaf; u-'ufuﬁé;@—c (7)
)+ ®) < ©) % () NOT
(8) An if statement inside another if statement is _g._t!qu m/;}*f;m_uﬁi" if JJI.QJJIZ..:.«;:‘!’ if/'ﬁl (8)
called ______ structure,
(A) Nested s (B) Boxed 1% (C) Repeated g {D) Decomposed 5};{‘:5
(9) All of the following are control statements except: ALY u%:ﬁ?ﬁufgf_sau (9)
(A) Seguential Jf"é (B) Repitition iuiny, (C) Selection jg" (D) Relation ._;’—’t"'
(10) structure allows repetition of a set of instructions. < twJiId L4 e Fl iy (10)
(A) Loop 4 (B) Conditional b5,  (C) Control Js &~ (D) Data L}
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PAPER CODE 2022 (A) | - /,{J,,
‘JMBER- 3836 SSC PART-ll (10th CLASS) |W/

COMPUTER SCIENCE (NEW COUSRSE) GROUP-II s vsf (obip) Hamd
TIME ALLOWED: 15 Minutes OBJECTIVE Lﬁ/’.ﬁ 215 = =
MAXIMUM MARKS: 10 10= AF

fe i b I3 ol Npmrne S WL Esit el Sy g Q692 <L Es D 41 C B A N2 B Ly
434 Ko e § Lo F st M ol s S TG S\ S s skl 255
Note: you have four choices for each objectivé'{yp_e question as A, B, C and D. The choice _J.):.:J'ﬂ,'r;eﬂlr
which you think is correct, fill that bubb_le\inft"oht of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will re"s"i-jlt in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 : 21 Ay
(1) All of the following are control statements except: ety . "J:/‘-’,:L?LJSJ_’:'E;» (1)

(A) Sequential 55 (B) Repitition jiiey,  (C) Selection ¢ (D) Relation /%

(2) structure allows repetition of a set of instructions. < L“ﬂJF*fc_J.Z-L_l/;uppfé,:fcf..:.y,f/,} (2)

(A) Loop ¢ (B) Conditional s~ (C) Control Js £~ (D) Data &}
(3) Using loop inside the loop is called: _‘;twb&'!&;ﬁmﬁ?ﬂ (3)
(A) For (B) While (C) Simple ol (D) Nested i
(4) The values passed to a function are called: -ﬁ&jkﬂﬁﬁifugfuﬁ (4)
(A) Bodies 731 (BY Réturn types w¥twss | (C) Arrays 4.1 (D) Arguments U5
(5)  What will be the output of this code? Lot ) .
Void abc () . Void abc ( )
{ " {
printf("Punjab"); printf("Punjab™);
) | )
(A} Punjab (B) Pun (C) Pak (D) Pakistan
(6) If there are three retun statements in ﬂufu’f?/’é; ;bﬁuf}uﬁb%ﬁjufu:u’}’,u‘*@;ﬁ (6)
the function body _ of them will be executed.
(A) One L (B) Two s (C) Three (D) Four
(7) For initializing a variable, we use operator, gL ALLE SweniEg @)
") —— ®) = ©) @ (D) 2 J
(8) Which of the following is a valid character in C-ianguage? ?‘L_-.,muff;,@-c /‘-L_//'.«ufc,u:uf (8)
(A) "here" (B) "a" (C) 'a’ (D) 115
(9) In C-language, which of the following is logical operator? ?gc,*:{a'd""’w[c_ ui‘ul‘_j!é,y@-c (9)
(A) + (B) < (C) % (D) NOT
(10) An if statement inside another if statement is bl A e i afale i (10)
called structure.
(A) Nested o= (B) Boxed &% (C) Repeated . (D) Decomposed ;;:,f?;
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PAPER CODE 2022 (A) /\\\ s

MMBER: 3838 SSC PART-Il (10th CLASS) }ﬂj

COMPUTER SCIENCE (NEW COUSRSE) GROUP-II L - Xl ) Sl
TIME ALLOWED: 15 Minutes OBJECTIVE (%».» o156 =
MAXIMUM MARKS: 10 10= A8

A ih b SIS IWL prne o il 0317 - L D 1 C B A Mzl Ly S
42490 KA R S Lo d St il 2oss R SE TG Sk | & S sitmlie ki 25
Note: you have four choices for each objective type question as A, B, C and D. The choice _L{/C:J'Jffm/ﬂfr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) In C-language, which of the following is logical operator? ‘?.q_;:ﬂyvufr—_u:uluff;y@—c (1)
(A) + (B) < (C) % (D) NOT

{2) An if statement inside another if statement is -.a-‘:uf____,__/_f},?xﬂ if sl e if N (2)

called structure.

(A) Nested (B} Boxed 1% (C) Repeated &y (D) Decomposed L‘g{}
(3) Al of the following are control statements except: _:a_!rvgv%:/“?ﬁu:gfiéu (3)
(A) Sequential P55 (B) Repitition dwisss,  (C) Selection £~ (D) Relation /%
(4) structure allows repetition of a Setofinstruations j Lt g £ Jote ol (e FL ;,gl,f,af’,‘/ (4)
(A) Loop ¢ (B) ‘Conditional' b~ (CyContror_s* (D) Data &3
(5) Using loop inside the loop is called: - b Anl ) (5)
(A) For (B) While (C) Simple sl (D) Nested 4
{8) The values passed to a function are called: -ngiﬁr/_ﬁf/uy:;ﬁ (6)
(A) Bodies il (B) Return types ._ﬁ"'wj:,- (C) Arrays .1 (D) Arguments J~¥T
(7)  What will be the output of thié code? _L};._'g.;i?'{,{iful (7)
Void abc () Void abc ( )
{ {
printf("Punjab"); printf("Punjab");
} }
(A) Punjab (B) Pun (C) Pak (D) Pakistan
{8) If there are three retun statements in _fut'-'?fég. r_u'.‘ur?unu"y‘::;ﬁ)gfuidig&aﬁ (8)
the function body of them will be executed.
(A) One {1 (B) Two s (C) Three & (D) Four s
(9) For initializing a variable, we use ______ operator. .20 P VY B AL L ST eAF L (9)
(A) ~—3 (B) = € @ (D) 7
(10) Which of the following is a valid character in C-language? ‘-'{_-wug,)ff; e Xty (10)
(A) "here" (B) "a" (C) 'a' (D) 115
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- Name of bd . gCriQM_CQ
e Group ; 1st Group: 2nd ![}!7/V
. X £
e |38 311333 [ 3833 27| [1es| 3822|382 2924 [262G
B A B [ B [ DD D
21 G | DB 21 ¢ | DA A
1B B AR | D1 ATD [D
A I I TD I TATA DT A
| D |8 [ B ! D TR TA[D
“"lA |R |0 ol A1 TATD
1 G 1 ¢ [ BTB 1D T DR A
/B |B R TC I DI AT A
1¢ | B ¢ TR 1A D DR
10 _ﬁ b B B 10 | H H H C
12 W anit A
13 il /| | 4 /
14 i / 14 / /
15 / / 15 / /
16 )4 / 16 / /
7|/ / 7 / /
5] / 7 &l T 7/
19 f/ / 19 // //
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